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Listening Comprehension

Exercise 1 Direction and Location

Directions: In this section, you will hear several short conversations. At the end of each conversa-
tion, a question will be asked about what was said. Both the conversation and the ques-
tion will be spoken only once. Afier each question there will be a pause. During the
pause , you must read the four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the corresponding lester on the Answer Sheet with a single

line through the center.

1. A) Go forward and turn right. B) Go back until he sees a staircase.
C) Tumn right immediately . D) Go forward and jump up into the air.
2. A) In a post office. B) In a department store.
C) In a bank. D) In a gracery store.
3. A) It’s in the bank. B) It’s across the street from the bank.
C) It’s next door to the bank. D) It’s behind the bank.

4. A) They want to go downtown.
B) He wants to go to the park, but she doesn’t.
C) He doesn’t know where to park the car.
D) He wants to find out the location of the park.

5. A) On the comer. B) The second shop after the bank.
C) On the second main street. D) At the next intersection.

6. A) On the main road. B) At the crossroads.
C) On the motorway . D) In the side street.

7. A) At an airport. B) At a train station.
C) At a hotel. D) At a restaurant.

8. A) At the post office. B) At his home address.

C) At his mountain cabin. D) At his aunt’s address.



9.

10.

11.

13.

14.

A) Tum right. B) Tum left.

C) Drive two blocks. D) Go straight on.

A) In a post office. B) At an insurance company.
C) On a plane. D) At an airport.

A) At the school computer center. B) At home.

C) At work. D) At the Oak Street.

A) In a train station. B) At a airport.

C) In a bus station. D) In New York.

A) On the phone. B) On the street.

C) At home. D) In an office.

A) In a city in the Midwest. B) In a town called One Horse.
C) In a town that had one horse. D) In a very small town.

Exercise 2 Inference and Implication

Directions: In this section, you will hear scveral short conversations. At the end of each conversa-

tion , a question will be asked about what was said. Both the conversation and the ques-
tion will be spoken only once. Afier each question there will be a pause. During the
pause , you must read the four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single

line through the center.

. A) She wants him to correct the mistakes.

B) Her supervisor makes some mistakes.
C) She will give him the report, but it isn’t perfect.
D) She wants him to read the report again.

. A) See her immediately .

B) Wait for her coming calmly.
C) Go and visit her at her home.
D) Forget about here at the moment.

. A) It is the first time they have climbed a mountain.

B) They think it is not worth climbing the mountain.

C) They hope to climb the mountain again when they are old.
D) They found it hard to climb the mountain this time.

A) She doesn’t know if she can take time off from work.

. 2 .



10.

11

12.

13.

B) She’ll invite her supervisor to go skiing.

C) She’s not sure she wants to go.

D) She has been planning the trip for a long time.

A) The man should go to the movie tonight.

B) The man should work on his paper instead of going to the movie.
C) The man should do something else.

D) The man should go out with the woman.

. A) He has been unpredictable lately.

B) He is usually punctual.
C) He advises his students to wear watches to class.

D) He rarely notices when students are late.

. A) Why all the trees on the street have been chopped down.

B) Why the man’s shirt is tom.
C) Why people are digging holes in the road.
D) Why the street is dirty.

. A) It’ s hammful for him to use his voice.

B) He needs to see a doctor.
C) He hasn’t been taking his medicine.
D) It’s difficult to understand him when he whispers.

. A) No one can do the translating.

B) The new secretary can type the document.

C) The woman should do the work herself.

D) The secretary might be able to help the woman.

A) That she would like a piece of cake in retum for fixing the sink.
B) That she loves fixing sinks.

C) That a piece of cake is stuck in the sink.

D) That it is easy to fix the sink.

.A) That the landlord doesn’t notice her.

B) That she hasn’t noticed that the landlord doesn’t like her.

C) That the landlord sent her a notice.

D) That she has already known that the landlord doesn’t like her.

A) He’s an engineer. B) He should choose his own career.
C) He wants to be an engineer. D) He has decided to study math.
A) A television. B) A cooker.



C) A fridge. D) A washing machine.

Exercise 3 Judgment and Attitude

Directions: In this section, you will hear several short conversations. At the end of each conversa-
tion, a question will be asked about what was said. Both the conversation and the ques-
tion will be spoken only once. After each question there will be a pause. During the
pause , you must read the four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single

line through the center.

. A) Greg is much older than Karen.

C) Karen is the same age as Greg.
A) She wants him to stay longer.

C) She knows he must go soon.

B) Greg is slightly older than Karen.
D) Karen is much older than Greg.
B) She wishes he had left sooner.

D) She wants him to go now.

3. A) Mixed. B) Fascinated.
C) Enthusiastic. D) Disinterested.
4. A) Run in town B) Look more carefully.
C)Buy shoes from a catalog. D)Find an easier place to exercise.
5. A) He should look in a different place. B) She can help him if necessary.
C) He should stand on something. D) Perhaps he shouldn’t have tea.
6. A) She didn’t go skiing last year. B) She’s just learing to ski.

C) She doesn’t travel very often.

D) She enjoyed her vacation very much.

7. A) They’re indifferent to its reviews. B) They’re convinced that it will be good.
C) They’ re puzzled by the criticism of it. D) They're glad they saw it together.

8. A) Get the concert tickets. B) Call Jane about the tickets.
C) Finish his paper. D) Go to the concert.

9. A) Some psychological problems. B) Some methods to cure her of the flu.
C) Some assignment for next week . D) Some plans for the future job.

10. A) Surprised. B) Overjoyed.

C) Portive. D) Fused.

11.

A) They should buy a new typewriter.
C) They should employ a new typist

B) They should not buy a new typewriter.
D) Both A and C.



Exercise 4 Number and Calculation

Directions: In this section, you will hear several short conversations. At the end of each conversa-
tion, a gquestion will be asked about what was said. Both the conversation and the ques-
tion will be spoken only once. After each question there will be a pause. During the
pause , you must read the four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single

line through the center.

1. A) less than 300 dollars. B) at least 300 dollars.

C) 300 dollars. D) more than 300 dollars.
2. A) 88. B) 78. C) 50. D) 25.
3. A) $25. B) $i5. C) $17.5. D) $12.5.
4. A) $235. B) $225. C) $165. D) $220.
5. A) A room with a balcony. B) A room with two beds.

L) A room and transportation . D) A room and meals.
6. A) At 10. B) At 10:30. C) At 11. D) At 11:30.
7. A) $10. B) $3. C) §7. D) $5.
8. A) $140. B) $120. C) $130. D) $170.
9. A) 2.3 pounds. B) 2.2 pounds. C) 5 pounds. D) 5 pence.

Exercise 5 Negative and Subjunctive

Directions: In this section, you will hear several short conversations. At the end of each conversa-
tion, a question will be asked about what was said. Both the conversation and the ques-
tion will be spoken only once. After each question there will be a pause. Durin, the
pause , you must read the four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single

line through the center.

1. A) Linda would probably prefer a cassette.

B) She was thinking of giving Linda the same cassette.
C) There is no need to get Linda the record.
D) Linda doesn’t buy exercise records anymore .

2. A) Because his sister visited him.



10

I1.

12.

13.

14.

B) Because he went to run with his niece.

C) Because he was running a fever.

D) Because he went to buy some medicine for his niece.

. A) There’s not enough time to finish.

C) The report will be ready on time.

. A) Anyone can do it.

C) Alex can probably do it.

B) The clock isn’t working.

D) He can begin the work at five.
B) No one can do it.

D) Alex probably shouldn’t do it.

. A) That he has caught a cold and can’t go to lunch.

B) That he has to start working on a new assignment.

C) That he has too much work and can’t go to lunch.

D) That he has no money to buy lunch.

. A) She has finished her term paper.

C) She still has not finished her paper.

. A) He’s unable to start typing.

C) He’s run out of paper.

. A) Take an English test.

C) Watch Romeo and Juliet.

. A) It takes her too long to get a tan.

C) She sunbums easily.

. A) The prices are reasonable.

C) The prices are high.
A) There are a lot of boxes in the way .

B) She wishes she had done better this term.
D) She wished the man would help her.

B) He can’t give the woman his typewriter.
D) He doesn’t have any money .

B) Go to the theatre with the woman.

D) Stay home and study.

B) She already had a tan.

D) She doesn’t want to get a tan.

B) The prices are relatively low.

D) The prices are very low.

B) The boxes might be too heavy for her to lift.

C) He’s checking the tonnage.
D) He’s almost finished.

A) He has been playing both games for a long time.

B) He is giving tennis lessons now.
C) He is no longer playing tennis.

D) He didn’t win either match.

A) He got some medicine for his foot.
C) He didn’t buy anything.

A) He’s unable to appear in court.

B) She wishes he could be a better student.

C) He plays tennis better than she does.
- 6 .

B) He was sick and couldn 't shop.
D) He bought everything except the football.



D) He’s not so enthusiastic about academics.
15. A) She still has exams to take.
B) She wants to know which exams are over.
C) She wishes she had done better in her exams.
D) She has finished looking through the exams.
16. A) The article was actually longer. B) His publishing career has just begun.
C) The newspaper printed his other article. D) The article dealt with tires.
17. A) The construction job will probably take a long time.
B) The noise problem could be solved.
C) The man has no reason to complain.
D) The man should move to a new building.
18. A) He didn’t buy the coat. B) He was glad the coat fit him so well.
C) He thought the coat was overpriced. D) He bought the coat on sale.

Exercise 6 Occupation and Relation

Directions: In this section , you will hear several short conversations. At the end of cach conversa-
tion , a question will be asked about what was said. Both the conversation and the ques-
tion will be spoken only once. After each question there will be a pause. During the
pause , you must read the four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single
line through the center .

1. A) He doesn’t remember if Sam is a student or not.

B) Sam is a part-time student.
C) Sam doesn’t go to all his classes.
D) He thinks Sam is a full-time student .

2. A) A statistician. B) A cashier.
C) A mathematician. D) A telephone operator.
3. A) Dentist and patient . B) Clerk and customer.
C) Tailor and customer. D) Teacher and student.
4. A) He’s a doctor. B) He’s a chairperson.
C) He’s a carpenter. D) He’s a travel agent.
5. A) A salesman. B) A student.
C) A tailor. D) A customer.



6. A) A fumiture builder.

C) A plumber.

7. A) A writer.
C) A reporter.

8. A) A shop assistant.
C) A waitress.

9. A) Librarian and student.
C) Boss and secretary.
10. A) A guest and a receptionist.
C) A customer and a shop assistant.
11. A) Boss and secretary.
C) Teacher and student.

Exercise 7 Entertainment

B) A locksmith.

D) A train conductor.

B) A teacher.

D) A student.

B) A telephone operator.

D) A clerk.

B) Operator and caller.

D) Customer and repairman.
B) A passenger and an air hostess,
D) A guest and a waitress.
B) Lawver and client.

D) Nurse and patient.

Directions: In this section, you will hear several short passages. At the end of each passage, you

will hear some questions. Both the passage and the questions will be spoken only once.
After you hear a question , you must choose the best answer from the four choices marked
A), B), C) and D). Then mark the corresponding letter on the Answer Sheet with a
single line through the center.

Passage 1
Questions 1 to 4 are based on the passage you have just heard .
1. A) Dress in a funny way. B) March alone.
C) Be from long ago. D) Come from a foreign country.
2. A) Soldiers.

. A) American football.

B) Retired servicemen.

C) People who contribute a lot to their countries.

D) All of the above.

B) British football.

C) Just football. D) Soccer.

. A) People hold parades to give themselves special feasts.

B) We honor great people by asking for a legal holiday.
C) At the beginning of each year, the Parade of Roses is held in Colorado.
D) Every year people pay much attention to football games played in the Rose Rowl.

<« 8 -



Passage 2
Questions 5 to 9 are based on the passage you have just heard.

5.

A) American history. B) Cartoon making.
C) Movement. D) Cartoon character.
. A) Taking it off. B) Putting it back.
C) Eating it up. D) Using it as a handle.
A) Was created by the American cartoonist Felix.

B) Was created in the United States in the nineteenth century.
C) Was designed by Pat Sullivan in the early twentieth century.

D) Was unable to do what natural cats could not do.

. A) Only professional can create cartoon characters.

B) Walt Disney cartoon characters were hom earlier than Pat Sullivan’s.
C) Animation means making things lifcless.

D) The cartoon industry started in the United States.

. A) It’s interesting but hard to do.

B) We need professional to instruct us.
C) It takes a lot of time to draw on to blank films.

D) It’s an easy job. Everyone can do it.

~ Passage 3

Questions 10 to 12are based on the passage you have just heard .

10. A) Because there weren't any professional teams in the U. S. then.

11.

12.

B) Because Pele hadn’t retired from the Brazilian National Team yet.

C) Because this fast-moving sport wasn’t familiar to many Americans.

D) Because good professional players received low salaries.

A) When it has a large number of fans.

B) When it plays at home.

C) When it has many intemational stars playing for it.

D) When the fans cheer enthusiastically for it.

A) It wasn’t among the top four teams. B) It didn’ play as well as expected.
C) 1t won the World Cup. D) It placed fourth.

Passage 4

Questions 13 to 15 are based on the passage you have just heard .

13.

A) American’s life-style.



B) Me-books.
C) * Do-it-yourself” .
D) Mind your own business.
14. A) It publishes books with aid of computers.
B) It only publishes children’s books.
C) It “ personalizes” the books by having the computer make the reader the leading character in
the story.
D) It publishes books written by oneself.
15. A) To tell children how to learn to read.
B) To love animals.
C) To love life.

D) To develop enthusiasm for reading and help a child to learn how to read.

Exercise 8 Education

Directions: In this section, you will hear scveral short passages. At the end of each passage, you
will hear some questions. Both the passage and the questions will be spoken only once .
Afier you hear a question , you must choose the best answer from the four choices marked
A), B), C) and D). Then mark the corresponding letter on the Answer Sheet with a
single line through the center.
Passage 1
Questions 1 to 3 are based on the passage you have just heard .
1. A) Introduces to the reader three universities.
B) Finds fault with British universities.
C) Discusses the relationship between universities and their colleges.
D) Compares Oxford and Cambridge with the University of London.
2. A) Each of the three universities has a number of colleges.
B) All colleges now take in both male and female students.
C) The University of London is larger than Oxford.
D) Oxford and Cambridge are the oldest in Britain.
3. A) All three universities are similar in that they have colleges.
B) Colleges of Cambridge are all specialized just like the London School of Economics and Politi-
cal Science.
C) The college system of Oxford is very much similar to that of Cambridge.
.10 -



D) Both Oxford and Cambridge have women’s colleges.

Passage 2

Questions 4 to 7 are based on the passage you have just heard.

4. A) The college president . B) The director of student services.
C) A day care assistant. D) A faculty member.

5. A) Child care programs. B) Low-income families.
C) The University Infant Center. D) After-school sports.

6. A) Every day of the week. B) Every day of the year.
C) Monday to Friday only. D) Summers only.

7. A) Go to the Student Services Center.
B) Go to the Child Care Center.
C) Go to the Family Student Housing Complex.
D) Go to the Drop ~ In Recreation Center.

Passage 3
Questions 8 to 11 are based on the passage you have just heard .
8. A) By copying what other people do.
B) By making mistakes and have them corrected.
C) By listening to explanations from skilled people.
D) By asking a great many questions.
9. A) They give children correct answers.
B) They point out children’s mistakes to them.
C) They allow children to mark their own work .
D) They encourage children to copy from one another .
10. A) Not really important skills.
B) More important than other skills.
C) Basically different from learning adult skills.
D) Basically the same as learning other skills.

11. A) Educated persons. B) Teachers.
C) The children themselves. D) Parents.
Passage 4

Questions 12 to 15 are based on the passage you have just heard .
12. A) On a Tuesday. B) On a Wednesday.
C) On a Thursday. D) On a Friday.



13.

14.

A) There will be only multiple-choice questions.

B) The exam will be both multiple-choice and essay question.
C) The exam will have an oral and a written section.

D) There will be only essay questions.

A) It will be easy to understand.

B) Students will be tested on all the material discussed in class.
C) It will cover topics from a wide variety of academic fields.

D) Students must complete all parts of it.

. A) During the first week of class. B) During midterm week .

C) On the last day of class. D) On the last day of exam week.

Exercise 9 Announcement and Report

Directions: In this section, you will hear several short passages. At the end of each passage, you

I.

will hear some questions. Both the passage and the questions will be spoken only once.
After you hear a question, you must choose the best answer from the four choices marked
A), B), C) and D). Then mark the corresponding letter on the Answer Sheet with a
single line through the center.

Passage 1

Questions 1 to 3 are based on the passage you have just heard.
A) A New York executive. : B) A computer specialist.
C) A television announcer. D) A teacher.

. A) To demonstrate the latest use of computer graphics.

B) To raise funds for public television programming.
C) To explain the workings of the brain.
D) To increase membership in professional medical societies.

. A) Because there will be a squeal after October 10.

B) Because it is meant for nonscientists.
C) Because a review will be printed before October 10.

D) Because it is simple enough for children.

Passage 2
Questions 4 to 6 are based on the passage you have just heard.
4. A) A new student. B) A physical education teacher.

<12 -



C) A professional photographer. D) A university administrator.

5. A) Enter the gymnasium. B) Attend class officially.
C) See a counselor. D) Participate in the gymnastics meet.
6. A) To answer questions. B) To collect ticket.
C) To collect money. D) To direct the meet.
Passage 3
Questions 7 to 10 are based on the passage you have just heard .
7. A) Early miners. B) Spanish explorers.
C) African naturalists. D) Early industrialists.
8. A) To work on mining operations. B) To carry scientific supplies.
C) To cross the North American continent . D) To help cultivate the frontier.
9. A) Gold. B) Settlements.
C) New routes for the railroads. D) New sources of water.

10. A) Burros are relatives of the horse.
B) Burros can adapt easily.
C) Burros are common farm animals.
D) There are many burros in the United States.

Passage 4

Questions 11 to 14 are based on the passage you have just heard .

11. A) A small restaurant. B) A revolutionary army.
C) A famous commander. D) A historic tree.

12. A) It was the oldest one in the park .
B) It was less than a hundred years old.
C) It was much younger than people had thought.
D) It was impossible to determine.
13. A) George Washington was an exiremely tall man.
B) Most trees in parks are destroyed by insects.
C) Historical stories are sometimes inaccurate.
D) The continental Army celebrated a victory in Cambridge .
14. A) Drive around the park. B) Eat Junch.
C) Plant a small tree. D) Go to the next city.

13 -



